O—-U—RAN-BEES

A—FIL/O—-U—BAN - HEEE
O O0—-YU—2AN - FERE

HO—U—BAN - EERE SEH

i s 8. A d 19[2REEH
F “ |3 Rt e 1] } “v‘-‘ﬁﬁ q 18 2REERTH 37 |[EAFT>RIvE—2 n
| g — ST e Fice e WP 17|2REHF 36 |[EARF>RIyE—1
1 = - TR 16 [2REDEtTH 35|70—%
15 |EHMFLZ3IyE—5eF#1 | 34| 70—2 b0—F—
14 |1 RIEDET 33 |[FEAN AOF
13 [T REDETH 32 A4
12 [BE2ER R/ (/S XFH 3177 HE2
1 B2 R EOR 30|77 JH#EF1
10 |BRSEHT 7 29 | AOf#kF
SRS EMAADE | 8lEANo X G—nAY o
8|71V a—HOR 27 |FeE3 (AL E)
771v2—A0% 26 |FeE2
6 HOF 25 Bl
5 [2RIEHREESE 24 3RELH
4V RENAESS 23BRELHRTH
3 AO0# 22[3Rk7TO—F
2[ZAbL—F 21 |3REAE
IESS 20 [3RIENEER
858 - = EFVERNORUE o
WLETOT, THEBTEL,
NEE JIS10K-15AF
31
K’ . |
o o
g X -
[Te), m—
~ 28
B
i 5
&2
a5
10k-50A7
_ V.
[Te)
o
«
o
[Te}
[aV)
o
=L A=A VI

32 6;\\:23 24)22)/21120,
, - O
‘ @
A
- s
L o o FORN1LL LI
T Bl e |0

I 1225

W =] — He X =f 8 E] C | —10~T140 m
% =t E 51| MPa |P1=21.6, P2=2.0, P3=0.97 ® B B E| C 35
= A E 51| MPa |[P1=19.6, P2=1.5, P3=0.7 a s EB| — Th- 2K

it EstERE 7 | MPa | P1=32.4, P2=3.0, P3=1.49LIF | BB REZE| % SERDH
SEREBEH| MPa [P1=23.8, P2=2.2, P3=1.09L1F [X & #% &| —

<¢8> CHIYODA SEIKI co.,nn.‘m





